
ФИО ___________________________________ КЛАСС _______________ 

1. Заполните таблицу 

Страна Население (тыс. чел.) Площадь (км²) 
Плотность населения 

(чел./км²) 

Венгрия 9 779 93 030  

Эстония 1 315 45 226  

 

2. Рассчитайте естественный прирост населения. 

Рождаемость  

(чел. на 1000 жителей) 

Смертность  

(чел. на 1000 

жителей) 

Средняя 

продолжительность 

жизни  

(лет) 

Естественный 

прирост  

(чел. на 1000 

жителей) 

9 8 82  

50 18 49  

10,5 14,4 71  

8,6 8,6 83  

38,6 11,3 38  

 


